BEAD GEXEF - BTTH5)

LfTE6A 1B
;1) X % # F K A ! % %

B 7 & o X 7,020 13,376 7,028 6,348

X B # K 1,204 2,780 1,379 1,401

£ P # K 548 1,349 677 672

N RO K 1,010 2,535 1,270 1,265

Bl £ # K 7,215 14,694 7,161 7,533

N | R # K 1,324 3,051 1,494 1,557

it XX M # K 1,066 2,394 1,202 1,192

it &8 & b K 8,008 18,110 8,620 9,490

B » B # X 6,665 16,135 8,059 8,076

& 5 34,060 74,424 36,890 37,534
Lf7E6HA 1B

w K A& BT T % # #H A ! 5 54

B 7 i X BE 7 1B T A 4,664 9,240 4,666 4,574
¥ FB H 214 367 207 160

® B E 436 822 416 406

£ L L H 792 1,364 860 504

g R H 313 525 287 238

53 ip 60| 1,058 592 466

#H K3 7,020 13,376 7,028 6,348

A E 1 K £ B H 89 202 102 100
N & H 820 1,906 932 q74

= K | 44 325 166 |59

+ K 1% #7 6T 15 347 179 168

#H K3 1,204 2,780 1,379 1,401

k P # K ® B H 139 338 177 161
= (| 16 35 15 20

£ @\ H | 29 399 189 210

& & H a6 206 96 110

R H 105 230 129 101

K E 63 141 71 70

#H K3 548 1,349 677 672

N RO X N KR H 175 389 195 194
nOR |49 385 189 196

7 PR HT 31 77 34 43

B R ¥ g 485 1,282 655 627

& A& 64 162 76 86

Z ij) 106 240 121 119

#H K3 1,010 2,535 1,270 1,265
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BEAD GEXEF - BTTH5)

LfTE6A 1B
X £ B T 4 it FEH A = L 8
Bl % 2 X Bl K H 642 1,463 709 754
P9 & %7 @ BT | 2 2 0
A 1 HT 175 41 | 198 213
B R B 731 1,582 770 812
& & 1,006 2,159 1,014 |, 145
Bl &£ 104 397 |54 243
= & 1,965 3,889 1,915 1,974
B | TH 246 422 217 205
8 2 TEH 464 890 446 444
8 3 TH 510 8l 410 401
8 4 TBH 769 1,367 69 | 676
Mt 10 22 12 10
NGB OFE A HT 43| 887 438 449
JE £ 787 %7 @ T 15 36 15 21
LT 1 |46 356 170 186
#H X 7,215 | 4,694 7,161 7,533
N R R X R AR E 1,324 3,051 1,494 1,557
#H X3 1,324 3,051 1,494 1,557
b X R X & ¢ H 74 214 I 14 100
& 7 #7 @ T 67 153 76 77
‘A BE YR E] 110 249 122 127
g @\ 60 |39 74 65
it /H  H 75 186 ql g5
N B 31 80 43 37
& ‘A 66 171 86 85
X B 5 16 8 8
BAaa | TH 107 201 115 86
BAaE2TH qq 206 96 110
mHoE3TH 101 197 96 101
mHoE4TH 134 298 141 157
BAaNE5TH 54 115 55 60
BN E6TH 83 169 85 84
#H X 1,066 2,394 1,202 1,192
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BEAD GEXEF - BTTH5)

2f7E6H | B
w KX % BT T & # % A ] 5 %
t®EE®E | LI TH 186 398 193 205
EWL2TEH 200 446 211 235
EWw 3 TEH 175 396 204 192
Bl 4 TEH 321 798 345 453
EWL5TEH 274 595 273 322
EWL 6 TEH 281 660 327 333
EWL7TEH 24| 57| 283 288
EWL 8 TEH 277 597 295 302
WwWE I TEH 445 903 416 487
WwWE2TEH 130 319 155 |64
¥ 3ITBAE 233 517 268 249
WwWE4TEH 160 360 167 193
WwW¥ES5TBH 244 54| 257 284
WwW¥E 6 TBH 272 604 280 324
NI T B 27 59 29 30
N2 T H 360 891 444 447
N3 TEH 186 406 211 195
NS 4 T B 587 1,156 503 653
T& 1 TH 205 465 220 245
& 2T7TEH 246 575 273 302
& 3TEH 14| 313 165 148
T & 4T7TEH 276 666 320 346
T &5TEH 190 434 186 248
BRE I TH 192 477 233 244
BHRE2TH 213 560 271 289
BHRE3TE 74 | 89 86 103
wHRE4TH 203 442 203 239
BHRES5TE 290 736 345 39|
Afx& | TH 165 416 203 213
A& 2TH 168 400 199 201
A& 3TH 376 803 398 405
Afr& 4 TH 670 1,417 657 760
o X E 8,008 18,110 8,620 9,490
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BEAD GBXF - BTT )

2f7E6H | B
H K % B T 4 # FH | A = L 8
Ry MK | gEyrl TH 180 778 52| 257
Bk BE2TH 176 426 216 210
By A3 TH 213 469 239 230
Bk B4 TH 285 743 352 391
B4y A5 TH 341 798 371 4217
By 6TH 334 929 462 467
Bk BT TEH 433 112 569 543
W/ AW TH 292 711 324 387
W/ W2TH 240 573 283 290
W/ W3TH 386 978 466 512
W/ W4TH 309 785 375 410
W/ W5TH 286 743 377 366
wr e TH 559 I, 141 559 582
WworBE2TH 482 995 490 505
WwWor B3 T8 365 1,009 505 504
Wwor B 4TE 373 629 315 314
BRI TEH 276 711 358 353
B¥27TEH 464 1,030 531 499
B3R 3TA8 310 754 379 375
B¥ 4 TEH 343 646 314 332
v B | TH | | 34 34 100
v B 3 T8 |7 41 19 22
# K F 6,665 16,135 8,059 8,076
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